11

111 (MSE)
( Mean Square Error)
MSE

M M

MSE = sk Y037 el = g 90 2 (0(isd) = s(i.)?

i=1j=1

MSE

MSE (normalized MSE)

M M’

0> Ayl g) — s(i, )}

NMSE = ==

M M

>0 s, )

i=1j=1

1.1.2 SNR (Signal to Noise Ratio)

[ ]
SNR =%
[db]

SNR = 10[0910%

SNR

(S) Ps
MSE

(N)



[dB]

SNR [db]
M M’
DO (i)
SNR = 10logig iv; A;,:l =1
SNy g) — stin ¥
i=1 j=1
Ps PSNR (Peak SNR)
113
MSE
(Detail Variance : DV) (Background Variance : BV) 32
BV
1 . 2
DV = Y ZZ{JE(@,]) — zd}
(i,7) €A
1 .
xd = Y sz(z,j)
(i,j) €A
1 . )
BV = g oo Do {alig) — ab}
(i.j) € B
1 .
(i,j) €B
DV BV

th
th

55)

th
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La™b* (CIE LUV) 51) L*a™b*

(normalized Color Difference)
N1 N»

Y D lAEL,l

_ i=04=1
NCD = -

Y D Bl

i=0 j=1

AELab = \/(L(Za.]) - Ls(la.]))Q + (&(Z,]) - a’s(iaj))Z + (b(la.]) - bs(l,]))Q

Ej. = /Ls(i, )2 + a5(i, )% + bs(i, j)?

L*a*b* L a b
L*a*b* 52)

RGB NTSC XYZ XYz

0.607 0.174 0.201 R
0.299 0.587 0.114 G
0.000 0.066 1.117 B

N <X
I

I 116(Y/Y,)Y/3 =16 ifY/Y, > 0.008856
903.29(Y/Yy,) ifY /Y, < 0.008856

a® =500 - [f(X/Xn) = f(Y/Y2)]
b* =200 [f(Y/Yn) = f(Z/Zn)]

o) z'/3 ifr > 0.008856
€T =
7.78x +16/116 ifz < 0.008856
Xn, Yn, Zn NTSC

[tn Y, Zn] = [98.072 100.000 118.225]

115

NCD

RGB

L*a™b*
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MOS, Mean Opinion Score
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